
             

 

TÀI LIỆU ÔN TẬP KHỐI 7 – MÔN TIẾNG ANH TOÁN 

(02/03/2020 – 07/03/2020) 

 

Choose the correct answer for each question. 

1. What type of triangle is this? 

 

A. Isosceles triangle B. Equilateral triangle 

C. Right angle D. Scalene triangle 

2. What type of triangle is this? 

 

A. Right triangle B. Acute triangle 

C. Obtuse triangle D. Equilateral triangle 

3. In the following figure, ∠𝐶2 is a(n) ………………… angle of 𝛥𝐴𝐵𝐶. 

A. interior  B. exterior C. supplementary D. none of them 

4. A scalene triangle has ………………… equal side(s). 

A. 3 B. 2 C. 1 D. 0 

5. An obtuse triangle has ………… acute angle(s) and …………… obtuse angle(s). 

A. one/two B. two/one C. three/zero D. one/one 



             

 

6. In the following figure, the sum of ∠𝐶1 and ∠𝐶2 equals …………… . 

 

A. 45o B. 90o C. 180o D. 360o 

7. The sum of all interior angles in a triangle equals ………………… . 

A. 90o B. 145o C. 180o D. 360o 

8. Which of the following is correct? 

A. ∠𝐶1 +  ∠𝐶2 = ∠𝐴 + ∠𝐵 

B. ∠𝐶1 = ∠𝐴 + ∠𝐵 

C. ∠𝐶2 = ∠𝐴 + ∠𝐶1 

D. ∠𝐶2 = ∠𝐴 + ∠𝐵 

 

 

9. Which of the following types of triangle has three acute angles? 

A. Acute triangle B. Equilateral triangle 

C. Obtuse angle D. Acute angle and equilateral triangle 

10. Find the value of 𝑥: 

 

A. 90o B. 145o C. 100o D. 80o 

 

 



             

 

11. Find the value of 𝑥: 

 

A. 50o B. 45o C. 65o D. 80o 

12. Find the value of 𝑥: 

 

A. 50o B. 45o C. 65o D. 75o 

13. What is the rule of congruent triangles below? 

 

A. S-S-S B. A-S-A C. S-A-S D. R-H-S 

14. Which type of triangle congruence is this? 

 

A. S-S-S B. A-S-A C. S-A-S D. R-H-S 

 



             

 

15. Which of the following is correct? 

 

A. ∠𝐴1 = ∠𝐶1 B. ∠𝐴2 = ∠𝐶2 C. ∠𝐴1 = ∠𝐶2 D. None of them 

16. Which of the following is correct? 

 

A. ∆𝐴𝐶𝐷 = ∆𝐷𝐶𝐵 B. ∆𝐴𝐶𝐷 = ∆𝐵𝐷𝐶 

C. ∆𝐴𝐶𝐷 = ∆𝐷𝐵𝐶 D. ∆𝐴𝐶𝐷 = ∆𝐵𝐶𝐷 

17. Find the value of 𝑥: 

 

A. 30o B. 35o C. 45o D. 40o 

18. Which type of triangle congruence is this? 

 

A. S-S-S B. A-S-A C. S-A-S D. R-H-S 



             

 

19. Which of the following is correct? 

 

A. ∠𝐵 = ∠𝐹 B. ∠𝐵 = ∠𝐺 C. ∠𝐴 = ∠𝐹 D. None of them 

20. Which of the following types of triangle has an angle larger than 90o? 

A. Right triangle B. Acute triangle 

C. Obtuse triangle D. Equilateral triangle 

 

 

 


